INDEX

Sr. No.	Particulars	Page No.
1.	Staff Insurance Policy doc. The New India Insurance Co. Ltd	1-4
2.	Pravara Rural Education Society's Employees	5-6
	Technical & Non-Technical Cooperative Credit Society Ltd.	
3.	Pravara Rural Education Society	7-8
	Employees Cooperative Credit Society Ltd.	
4.	Honoring of teaching and non-teaching staff on acquiring higher	9
	academic qualification and at the time of their retirement	





2023-24

Personal Accident Insurance ((Group(Unnamed)))

		UIN NUMBER - IRI	DAN190P0003201314	1	
Insured Name	:	PRAVARA RURAL EDUCATION SOC	IETY,PRAVARANAGAR	1	
	Ins	ured's Details		Issuin	g Office Details
Customer ID	:	PO43169982	Office Code	:	RAHURI BRANCH 151804 (151804)
Address	:	A/P PRAVARANAGAR TAL - RAHATA DIST-AHMEDNAGAR RAHATA MAHARASHTRA, 423107	Address	:	SITAPLAZA COMPLEX, NAGAR MANMAD ROAD RAHURI,413705
Phone No	:		Phone No	:	02426233069 / 02426233070
E-mail/Fax	:	1	E-mail/Fax	:	nia.151804@newindia.co.in / 02426233070
PAN No	:	AAATP2302E	S.Tax Regn. No	:	AAACN4165CST178
GSTIN/UIN	_ :	NA / NA	GSTIN	:	27AAACN4165C3ZP
	:		SAC	:	997133 (Accident and health insurance services)

Policy Number	:	15180442230100000519	Business Source Code				
Period of Insurance	:	From:18/12/2023 12:00:01 AM To: 17/12/2024 11:59:59 PM	Dev.Off level./Broker/Corp. Agent/IMF/POS/Web Aggregator	:	MS. PRAVARA INSTITUTE OF RESEARCH & EDUCATION, - (2D11723547)		
Date of Proposal	:	18-Dec-23	Agent/Bancassurance/Spe cified Person/CPSC User	:			
Prev. Policy no.	:	NA	Phone No	:	NA / NA /		
Client Type	:	Non-Corporate	E-mail/Fax	Ť	pirens@prayara.ren.nic.in. / / /		
Staff Discount	:	No	Type of Cover	-	NA		

Premium:		GST:		Total (₹)	Stamp Duty	Rupees (in words)	Receipt No. & Date:
₹ 1,159,612	₹	208,730	₹	13,68,342	₹10	RUPEES THIRTEEN LAC SIXTY-EIGHT THOUSAND THREE HUNDRED FORTY- TWO ONLY	1518048123000000 4067 - 19/12/23

	Number of Persons 100001-200000								00000	
SI. No	No of Person	Cadre	Sum Insured per person	Total Sum Insured	Risk Group	Excess	Medical Extensio n	War & A	Allied Cove	r opted
								Sum Insured	Country	Type of Period
1	36009	RISK GROUP I TABLE B 2 LAKH SUM INSURED 25000 MEDICAL EXPENSE	200000	72018000 00	Risk Group I	0	Yes	0	NA	NA

Table Details: (Group(Unnamed))

	Table Details. (Group(offinamed))								
SI.No	Ta	ble A	Table B		Tal	ble C	Tal	ole D	
	Table A	Sum Insured	Table B	Sum Insured	Table C	Sum Insured	Table D	Sum Insured	
1	No	0	Yes	200000	No	0	No	0	

L	SI.No	Special Conditions]
	1	RISK GROUP I TABLE B 2LAKH SUM INSURED 25000 LUMP SUM MEDICAL EXPENSE. TERMS AND CONDITIONS AS PER	1
L		THE PA POLICY.LIST OF STUDENTS ATTACHED.	ı

Dografie people:
Dografie Policy No.: 15180442230100000519Document generated by 39822 at 19/12/2023 14:25:42 Hours.
PANIGE PANIG http://newindia.co.in.

THE NEW INDIA ASSURANCE CO. LTD. (Government of India Undertaking)



Premium and GST Details		
	Rate of Tax	Amount in INR
Premium		₹ 11,59,612
SGST	9	104365
CGST	9	104365
IGST	0	0
	Total -	- 1368342
The Policy Shall be subject to PERSONAL ACCIDENT INSURANCE	CE ((Group(Unname	ed))) policy clauses attached herewith IN
WITNESS WHEREOF the undersigned duly authorized hereinto	set his hand	
Place:-		For and on behalf of
Date:-	٦	The New India Assurance Company Limited
		Duly Constituted Attorney(s)
		•
Moderal Dr. Committee of the Committee o		tunkan sida manint
MudrankDtconsolidated Stamp Fees I	Paid by Pay Order N	lumbervide receipt
numberdt		
Stamp Duty under the Policy is ₹		
Stating Daty struct the Folicy is t		

We hereby declare that though our aggregate turnover in any preceding financial year from 2017-18 onwards is more than the aggregate turnover notified under sub-rule (4) of rule 48, we are not required to prepare an invoice in terms of the provisions of the said sub-rule.

Tax Invoice No : 15180423P0004930

IRDA Registration Number: 190
NIA PAN NUMBER: AAACN4165C

PRAVARA RURAL EDUCATION SOCIETY, PRAVARANAGAR Statement showing details of Insurance policy Student for the period Dt.10-12-2023 to 17-12-2024 The New India Assurance .Rahuri Student Year 2023-24 (Per Student Sum Insured Rs. 2,00,000/- & Medical Exp. 25,000/-) Sr. No Rate of NAME OF THE UNIT Student Premlum Technical Unit A 1 Pravara Rural College of Engineering 2,079 38 79,002 2 Sir Vishveshwarayya Memorial Engineering College, Chincholi 950 38 36,100 P.Dr.V.Vikhe Patil Institute of Technology & Engineering 3 1,133 38 43,054 (Polytechnic) College 4 College of Pharmacy B.& M. Pharm) 725 38 27,550 5 College of Architecture Loni 97 38 3,686 6 Industrial Training Institute 545 38 20,710 7 College of Architecture, Mohu, Tal Sinnar 7 38 266 8 College of Pharmacy (D) Chincholi 260 38 9,880 9 Institute of Pharmacy, Loni 263 38 9,994 10 College of Pharmacy (G) 4,332 114 38 11 Coll.Of Food Tech. Khadkewake 38 4 152 12 Nursing College, Chincholi 38 6,232 164 13 College of Pharmacy Chincholi 344 38 13,072 В Non-Technical Units 14 Womens' College of Home Science & BCA 38 12,844 338 15 College of Agricultural Biotechnology 38 234 8,892 College of Agriculture Business Management 16 38 160 6,080 17 College of Agriculture 291 38 11,058 18 Institute of Agriculture & Dairy Sciences Loni 181 38 6,878 19 Institute of Agriculture & Dairy Sciences, Fattyabad 38 118 4,484 20 Padmashri Vikhe Patil Sr. College of Arts, Science & Commerce 2,554 38 97,052 21 Padmashri Vikhe Patil Jr. College of Arts, Science & Commerce 1,722 38 65,436 22 Arts, Commerce & Science College, Satral 604 38 22,952 23 Arts, Science & Commerce College, Kolhar 418 38 15,884 24 Arts, Commerce, Science & Computer Science College, Ashwi Kd. 519 38 19,722 25 Arts, Science & Commerce College, Alkuti 829 38 31,502 26 Pravara Rural College of Education (B.Ed) 102 38 3,876 Pravara Rural College of Education (M.Ed) 27 50 38 1,900 Pravara College of Physical Education (B.P.Ed) 28 185 38 7,030 29 Jr.College, Chincholi 90 38 3,420 30 Live Stock Mgt. & Dairy Alkuti 94 38 3,572 Arts Com Sci Jr. College Rahata 31 333 38 12,654 С English Medium School Pravara Central Public School (CBSE) Pravaranagar 32 797 38 30,286 33 Pravara Public School Pravaranagar 1,720 38 65,360 34 Pravara Girls' English Medium School & Junior College 1,136 38 43,168 35 Pravara High School, (Eng. Medium) Kolhar 821 38 31,198 36 Padmashri Dr. Vithalrao Vikhe Patil Sainik School 459 38 17,442 37 Pravara Kanya Vidya Mandir & Junior college 2,775 38 105,450

173

197

38

38

6,574

7,486

38

39

D

EMS Chincholi

Secondary

International School Loni

Sr. No	NAME OF THE UNIT	No.of Student	Rate of Premlui	
40	Shri.Chhatrapati Shivaji Vidyalaya &Junior college, Pathare	969	38	Therefore a province of the second
41	- Additional Phule Vidyalaya & Junior college Dadh	873	38	50,02
42	Sitti. Yeshwantrao Chavan Vidyalaya & Junior college Rajuri	806	38	30,27
43	Ambedkar Junior college	365	38	1
44	Khasdar Balasaheb Vikhe Patil Vidyalaya, Gogalgaon	256	38	9,72
45	Karmaveer Bahurao Patil Vidyaniketan, & Junior college, Ashwi Kd.	1,247	38	47,38
46	Late Janardhan Kale Patil Vidyalaya & Junior college, Chincholi	617	38	23,44
47	Pravara Madhyamik Vidyalaya, Adgaon	321	38	12,198
48	Padmashri Dr.Vitthalrao Eknathrao Vikhe Patil Vidyalaya & Junior college Babhaleshwar	1,220	38	46,360
49	PMV Bhagwatipur Pri.	315	38	11,970
50	PMV Bhutetakali	94	38	
51	Shri. Rameshwar Vidyalaya, Chanegaon			3,572
52	PMV Chincpur	129	38	4,902
53	PMV Cholkewadi	403	38	15,314
54	PMV Durgapur	97	38	3,686
55	PMV Ekrukhe	413	38	15,694
56	PMV Fattyabad	93	38	3,534
57	PMV Galnimb	450	38	17,100
58	PMV Guha	177	38	6,726
59	PMV Kasarwadi	208	38	7,904
60	PMV Kolhar Kd	139	38	5,282
61	PMV Mamdapur	183	38	6,954
62	PMV Nandur	239	38	9,082
63		198	38	7,524
64	PMV Nimgaon	155	38	5,890
	PMV Pimprilauki	238	38	9,044
65	PMV Rampur	141	38	5,358
66	Dyandeep Madhyamik Vidyalaya , Rampurwadi	203	38	7,714
67	PMV Savargaontal	169	38	6,422
68	PMV Sonewadi(Bhojapur)	74	38	2,812
69	PMV Tisgaon	170	38	6,460
70	PMV Umbari	155	38	5,890
71	PMV Varwandi	375	38	14,250
72	PMV Zarekathi	214	38	8,132
73	Punyashlok Ahilyabai Holkar Madhyamik Vidyalaya, Loni	388	38	
74	PMV Shiblapur	175	38	14,744
75	YCM Puntamba	134	38	6,650
76	English Medium School Aahvi kd	21	38	5,092
		6,009		798
		0,007	1	,368,342
,				
n_	De Coc			
PARED BY	CHECKEY			
	CHECKBY ACCOUNTANT	D	IRECTOR F	NANCE



प्रवरा ग्रामीण शिक्षण संस्थेच्या तांत्रिक व अतांत्रिक सेवकांची सहकारी पतसंस्था मर्यादित, लोणी

ISO - 9001 : 2015 मानांकन प्राप्त संस्था

जावक क्र. TSP1 2024 - 25/16

R. 05/08/2024

प्रति, मा.प्राचार्य, लोकनेते बाळासाहेब विखे पाटिल^(पदमभुषण उपाधिने सन्मानित) प्रवरा ग्रामिण शिक्षण संस्थेचे, कला, विज्ञान व वाणिज्य महाविदयालय, कोल्हार, ता. राहाता, जि.अहमदनगर.

विषय :- सेवक पतसंस्था सभासद कर्ज मंजूरी व सवलतीबाबद.....

संदर्भ :- आपले महाविदयालयीन पत्र :- ASCCK/ESST/2024-25 दि.05-08-2024

महोदय,

उपरोक्त विषयान्वये आपण केलेल्या सेवक सभासद कर्ज पुरवठा व इतर सवलती सेवकांना प्रवरा ग्रामिण शिक्षण संस्थेच्या, तांत्रिक व अतांत्रिक सेवकांची सह. पतसंस्था मर्यादित - लोणी वेळोवेळी सेवक सभासदांच्या मागणीनुसार पगार तारण कर्ज पुरवठा व ठेवी संकलन संस्थेच्या पोट नियमानुसार करत असते.

आपले कला, विज्ञान व वाणिज्य महाविदयालय, कोल्हार, खांलील सेवक पतसंस्थेचे सभासद असुन वरील सेवेचा लाभ त्यांना वेळोवेळी सेवक पतसंस्थेमार्फत देण्यात येतो.

शेक्षणिक वर्ष	२०१९.२०२०	2020.2029	2029.2022	२०२२.२०२३	5053.5058
सभासद संख्या	06	٥٥	٥٥	٥٥	<u> </u>

आपले माहितीसाठी सविनय सादर



आपला विश्वासु श्री.रोहित विठ्ठल म्हरके सचिव

Pravara Rural Education Society's Employees Technical & Non-Technical Cooperative Credit Society Ltd. Loni

ISO 9001: 2015 Accredited Organization

Date: 05/008/2023

To,

Hon. Principal,

Arts, Science and Commerce College, Kolhar,

Tal. Rahuri, Dist. Ahmednagar

Subject: - Approval and Facility of Loan at Employees of Technical Cooperative Credit Society Limited......

Reference: - You're College Letter with outward no. ASCCK/ESST/2022-23 dated 22-02-2023 Sir,

As per the above subject approval of loans, concessions and other facilities are sanctioned as per the demand of the members of the Pravara Rural Education Society's Employees of Technical Cooperative Credit Society Limited, Loni. As per the demand, Kolhar is a member of the above mentioned Employees Cooperative Credit Society Limited and the above mentioned facilities are approved as per the demand and salary mortgaged according to the rules and the regulations of the institution. You're College of Arts, Sciences and Commerce, Kolhar, following staff is a member of the above mentioned Cooperative Credit Society Limited and above mentioned facilities are approved.

Academic Year	2023-24
No. of Members	06

Stamp Chairman

Stamp and Signature



PRINCIPAL

ARTS, SCIENCE & COMMERCE COLLEGE

KOLIAR, TAL. RAHATA, DIST. AHMEDNAGAR





प्रवरा रुरल एज्युकेशन सोसायटी सेवकांची सहकारी पतसंस्था मर्यादित



लोणी बु.।।, ता.राह्यता, जि.अहमदनगर पिन – ४१३७३६ फोन : (०२४२२) २९९३४५

जा. क. -) ६२३) ८ । २०२४

R. e / (/202)

प्रति, मा. प्राचार्य लोकनेते डॉ. बाळासाहेब विखे पाटील (पद्मभूषण उपाधिने सन्मानित) प्रवरा ग्रामिण शिक्षण संस्थेचे कला वाणिज्य व विज्ञान महाविदयालय कोल्हार ता. राहाता जिल्हा-अहमदनगर

> विषय :- सेवक पतसंस्था सभासद कर्ज मंजूरी व सूविधेबाबद संदर्भ- आपले महाविदयालयीन पत्र जावक क्रASCCK/Esst/२०२४-२५/१७२/B / दि०५/०८/२०२४

मा. महोदय,

उपरोक्त विषयान्वये आपल्या महाविदयालयातील सेवक सभासदांना कर्ज पुरवठा व इतर सुविधा प्रवरा रूरल एज्युकेशन सोसायटी सेवकांची सहकारी पतसंस्था मर्यादित लोणी बु. ता. राहाता जिल्हा अहमदनगर वेळोवेळी महाविदयालयाच्या सेवक सभासदांच्या मागणीनुसार कर्ज पुरवठा व ठेवी संकलन संस्थेच्या पोटिनयमानुसार करत असते. आपले कला , विज्ञान व वाणिज्य महाविदयालय कोल्हार येथील खालीलप्रमाणे सेवक पतसंस्थेचे सभासद असून वरील सेवेचा लाभ वेळोवेळी सेवक पतसंस्थेमार्फत देण्यात येतो.

कळावे,

शैक्षणिक वर्ष	२०२ ३- २०२ ४
सभासद संख्या 🏻	१७

प्रवरा रूरल एज्युकेशन सीसायटी सेवकांची सहकारी पतसंस्था मर्या. लोणी वु ॥ Pravara Rural Education Society Employees Cooperative Credit Society Ltd.

Loni BK. Tal. Rahata, Dist. Ahmednagar 413736 Phone: (02422) 299345

Dated: 09/08/2024

To,
Hon. Principal,
Arts, Science and Commerce College, Kolhar,
Tal. Rahuri, Dist. Ahmednagar

Subject: - Approval and Facility of Loan at Employees Cooperative Credit Society Limited. Ref- Your College letter with Outwaed No. ASCCK/Esst./2022-23/ dt. 22/02/2023 Sir,

As per the above subject provision of loans and other facilities of the above-mentioned college are sanctioned as per the demand of the members of the Pravara Rural Education Society Employees Cooperative Credit Society Limited, Loni BK. Tal. Rahata, Dist. Ahmednagar. You're College of Arts, Science and Commerce, Kolhar following staff is a member of the above mentioned Employees Cooperative Credit Society Limited and the above mentioned facilities are approved.

Academic Year	2023-24
No. of Members	17

Stamp Chairman

Stamp and Signature



ARTS, SCIENCE & COMMERCE COLLEGE KOLIAR, TAL.RAHATA, DIST. AHMEDNAGAR



LOKNETE DR. BALASAHEB VIKHE PATIL (PADMA BHUSHAN AWARDEE) PRAVARA RURAL EDUCATION SOCIETY

ARTS, SCIENCE & COMMERCE COLLEGE KOLHAR

Tal. Rahata, Dist. Ahmednagar, Pin - 413 710 NAAC Accredited at 'A' Grade with CGPA 3.10

6.3.1 Honoring of teaching and non-teaching staff on acquiring higher academic qualification and at the time of their retirement

Principal, Dr. Aher. H. R. honoring Mr. Borse. R. K. on his retirement



Principal Dr. Aher. H. R. expressing his feelings and opinions at the time of Retirement

OS Mr. Gatakal. B. B. expressing his sentiments and presenting vote of thanks







